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 Mathematicalالتمثيل الرياضي لدالة الموجة
Representation of W.F   

بما ان انمجال انمادي انمصاحب نحركت انجسيم يمكه انتعبير 
عىه بموجاث واقفت حيث يمكه تمثيم دانت انموجت بانصيغت  

 :انرياضيت انتانيت

Ψ(x,t)=Ψ0𝑒
𝑖
(
2𝜋

𝜆

𝑥
−
𝜔𝑡
)

 

 

p= ħ k , E= ħ ω, K=2𝜋/𝜆  ؞ 

                      …..(1)                               X,t) =Ψ0𝑒
𝑖

ħ
 (𝑃𝑥𝑋−𝐸𝑡)

) Ψ ؞ 

In Three Dimension 

r,t) =Ψ0𝑒
𝑖

ħ
 (𝑃.𝑟−𝐸𝑟)

) Ψ  

 



Time Dependent Schrodinger Equation (T.D.S.E)    معادنت

 عهى انزمه شرود وكر انمعتمدة 
 

  
 x                                                                        بالنسبة ( 1) معادلةباشتماق معادلة 

𝜕𝛹(𝑥, 𝑡)

𝜕𝑥
=
𝜕

𝜕𝑥
 Ψ0𝑒

𝑖
ħ
𝑃𝑥𝑋−𝐸𝑡 = Ψ0 𝑒

𝑖
ħ
𝑃𝑥𝑋−𝐸𝑡 (

𝑖

ħ
𝑃𝑥) 

𝜕𝛹(𝑥,𝑡)

𝜕𝑥
= 𝑖/ ħ 𝑃𝑥 𝛹(𝑥, 𝑡) 

 -iħنضرب طرفي المعادلة في  

iħ 
𝜕𝛹(𝑥,𝑡)

𝜕𝑥
= 𝑖/ ħ 𝑃𝑥 𝛹 𝑥, 𝑡                                                        …… (2)- 

 (x)بالنسبة ل ( 2)نشتك معادلة 

……(3)                                   -ħ^2 
𝜕^2𝛹(𝑥,𝑡)

𝜕^2𝑥
=  𝑃^2𝑥 𝛹 𝑥, 𝑡   

  
 



  

 (t)بالنسبة للزمن ( 1)نشتك معادلة 
𝜕𝛹(𝑥, 𝑡)

𝜕𝑡
=
𝜕

𝜕𝑡
 Ψ0𝑒

𝑖
ħ
𝑃𝑥𝑋−𝐸𝑡 = Ψ0 𝑒

𝑖
ħ
𝑃𝑥𝑋−𝐸𝑡 (−

𝑖

ħ
𝐸) 

 iħ نضرب طرفي المعادلة في
𝜕𝛹(𝑥,𝑡)

𝜕𝑥
= −𝑖/ ħ 𝐸 𝛹(𝑥, 𝑡) 

  

iħ 
𝜕𝛹(𝑥,𝑡)

𝜕𝑥
=  𝐸 𝛹 𝑥, 𝑡                             …… (4) 

E= T+V؞ 

      …*  E=
𝑃2

2𝑚
+ V(X) 

𝛹بـــ * نضرب طرفي المعادلة  𝑥, 𝑡 

 



  

E Ψ x, t =  
P^2Ψ x,t

2m
+ V(X)Ψ x, t              …. ..(5) 

نحصل على العلالة ( 5)في المعادلة ( 3), ( 4)بالتعويض عن 
 :التالية

iħ= 
𝜕𝛹(𝑥,𝑡)

𝜕𝑡
= -
−ħ^2

2𝑚
  
𝜕𝛹(𝑥,𝑡)

𝜕𝑥
 

iħ 
𝜕𝛹(𝑥,𝑡)

𝜕𝑡
= −

ħ2

2𝑚
 
𝜕2𝛹 𝑥,𝑡

𝜕𝑥2
+ 𝑣 𝑥 𝛹 𝑥, 𝑡       …… (6) 

  

المعتمدة على الزمن وهي  شرودنكربمعادلة ( 6)تدعى المعادلة 
معادلة ذات اهمية كبيرة في ميكانين الكم وفي ثلاث ابعاد تصبح 

 :بالصيغة الرياضية التالية ( 6)العلالة 

 

 



  
In Three Dimension 

iħ 
𝜕𝛹 𝑟,𝑡

𝜕𝑡
= −

ħ2

2𝑚
 𝛻2𝛹 𝑟,𝑡 + 𝑣 𝑟 𝛹 𝑟, 𝑡  

  
  

Time Independent Schrodinger Equation(T.I.S.E)  معادلة
 الغير المعتمدة على الزمن شرودنكر

  
الغير معتمدة على الزمن يمكن كتابة معادلة الموجة  شرودنكرمعادلة  لايجاد

 :الوالفة على الشكل التالي

Ψ(X,T) = Ψ0𝑒
𝑖

ħ
(𝑝𝑥𝑋−𝐸𝑡) 

        =Ψ(t)Ψ(x) 
 



 

Ψ(x,t) =𝑒−
𝑖

ħ
𝐸𝑡 𝛹 𝑥   ……(7) 

:نحصل على ( 6)في المعادلة ( 7)المعادلة بتعويض                                  

iħ . (
−𝑖

ħ
) EΨ(x) 𝑒−

𝑖

ħ
𝐸𝑡  =  −

ħ2

2𝑚
 

𝜕^2𝛹(𝑥,𝑡)

𝜕𝑥^2
 𝑒−

𝑖

ħ
𝐸𝑡 + 𝑣(𝑥)Ψ(x) 𝑒−

𝑖

ħ
𝐸𝑡 

•−
ħ2

2𝑚

𝜕^2

𝜕𝑥^2
+ 𝑣 𝑥 Ψ x = EΨ x                               …… (8) 

In Three Dimension 

𝛻2𝛹 𝑟 +
2𝑚

ħ2
𝐸 − 𝑉 𝑟 .𝛹 𝑟 = 0 

 



Normalized function  

P(x,t)=Ψ* (x,t ) Ψ(x,t ) 

Then P(x,t)dx is the probability of finding 
particle between x and x+dx at time. 

 𝑝 𝑥, 𝑡 𝑑𝑥 = 1
∞

−∞
   

  𝛹 ∗ 𝑥, 𝑡 𝛹 𝑥, 𝑡 = 1
∞

−∞
  

Then its normalized function 

 



Orthogonally of wave function 
1-Two different wave function Ψn,Ψm  are said to be 
orthogonal if 

 𝛹𝑚 ∗ 𝛹𝑛𝑑𝜏 = 0
∞

−∞

 

2-Wave functions that are solution of given sch.equ. are 
usually orthogonal one to other. 
3-Wave functions that are both orthogonal and 
normalized called (orthonormal)such that: 

 𝛹𝑚 ∗ 𝛹𝑛𝑑𝜏 = 𝛿𝑚𝑛
∞

−∞

 

𝛿𝑚𝑛 = 1 𝑎𝑡 𝑚 = 𝑛         𝑜𝑟𝑡ℎ𝑜𝑛𝑜𝑟𝑚𝑎𝑙 
 

𝛿𝑚𝑛 = 0 𝑎𝑡 𝑚 ≠ 𝑛 
 



Expectation value 

If the system is in state Ψ Which is not an eigen state of a such Observable 

,then it is not possible to say with certainly what measured value will be found 

for A. Therefore, one has to use the average value ̅ ̅̅A̅ which called in Quantum 

expectation value of A. 

It is defined as: 

𝐴 = 𝐴 =
𝛹 ∗ 𝐴𝛹 𝑑𝜏

𝛹 ∗  𝛹𝑑𝜏
 

For normalized 

• 

𝐴 = 𝐴 = 𝛹 ∗ 𝐴𝛹 𝑑𝜏 

 



Example: 

1. position

                               𝑥 =  𝛹 ∗ 𝑥  𝛹dx 

2. Momentum

                           𝑝𝑥 =  𝛹 ∗ 𝑝𝑥  𝛹dx 

                                                 𝑝𝑥 = −𝑖ħ
𝜕

𝜕𝑥
 

                           𝑝𝑥 = −𝑖ħ 𝛹 ∗
𝜕

𝜕𝑥
𝛹dx 

  

   

 



 3-Total energy 

                                                𝐸 =  𝛹 ∗ 𝐸 𝛹𝑑𝑡 

𝐸 = 𝑖ħ
𝜕

𝜕𝑡
 

                              𝐸 = 𝑖ħ  𝛹 ∗
𝜕

𝜕𝑥
𝛹dt 

 4-Kinetic energy 

𝑇 =  𝛹 ∗ 𝑇 𝛹𝑑𝑥 

                                             T=
𝑝2

2𝑚
 
 
= −

ħ2

2𝑚

𝜕^2

𝜕𝑥^2
 

                             𝑇 = −
ħ2

2𝑚
 𝛹 ∗

𝜕^2

𝜕𝑥^2
𝛹dx 

 


